MCR3U9 Semester 1, 2016 - 2017
Grade 11 Pre-AP Functions
Minor Test — Unit 1 — Function Concepts, Notation, Perspectives, Applicitions, Transformations
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Part 1: Modified True/False (6 KU)
State whether each statement is true or false. If false, change the underlined part to make the statement true.

1. T/IF F\)(f (2+7)= f(2)+ f(7) for all functigns f Change: f(Q) ‘}(
1@)+10) 5 =4 work
(3,-) ¥

2. TIF E \)4" g(3)=-1 then (-1,3) lies of the graph of g. Change:

3. TIF ‘)g functions are relations and all relations are functions. Change: _m&‘_q" \/(

4. TIF F he function h(t) =—4.9t? +14t + 2 describes the height, in metres, of a ball thrown vertically
upward, t seconds after it was thrown. Then h(O) means ‘)/

the height of the ball when it hits the ground. Change: i};\e h&j\f mL’fl.me 0
n 1
5. TIF £v§e symbol f (u) isread “fu.” Change: 'F a‘F U \)(

Part 2: Problems

6. Circle the relations that are functions. (5 KU) One, mark o{edud’ea
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7. State the domain and range of f (x)= X" +5x° ~ 66X m 'X(‘X %ﬁ )
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8. A kayak-rental company charges $40 per kayak rental and averages Mo
400 rentals per day. According to marketing studies of the kayak - 3 ?—('6 2&0(1) )

rental industry, for every $5 increase in price, a typical company can
expect to lose 10 rentals per day. How much should the company

charge to ma\?e revenue? (10 APP) IWU“_
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increases have been made. (T symmet ry

Reve"ue = (2 kayaks rented Xprice per restal) SEit:
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9. Consider the function f defined by the equation f (x) = |x—10|. The function g is obtained by performing the

following transformations to f:

Horizontal Transformations

Vertical Transformations

1. Reflect in the y-axis
2. Stretch by a factor of 2
3. Translate 8 units to the right

1. Reflect in the x-axis
2. Stretch by a factor of 3
3. Translate 15 units up

(a) Write the transformation using mapping

notation. (4 Kly 4 Y e

(b) Write the trarisfy'natic‘)ying function notation. (4 KU)
(xy)- (=% +3,-3 y+!5’>

v
0(x)= =35 (-&( x—“-/i’))+ E}

(d) On the given grid, sketch the graphs of both f and g.
(5 APP)

(c) Apply the transformation to five key
points on f. (5 APP)
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(e) Find the equation of g by using your answer to (b) as well as your graph. ,(4 'I.'lI-PS) _
g(x) ==-3f(-4(x-8)) +I5 =-3|-kx-6[+)5 };ﬁ
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10. The graph of the function f is shown at the right. A function g is 4}t

definedas follows: ﬁ vuuf!‘ be. %mrd —‘-o
g(x)=3f (Vx) BTIPS) olstain ¢
(@) Exgvress the transformation from f to g using mapping notation. 2|

/.d S
o> (2, 3y) |

(b) Using the grid at the right, sketch the graph of g.
Hint: Use points on f whose x-co-ordinates range from 1 to 5.
Estimate the y-co-ordinates of these points.

/6 8 10 12

N6 18202224
&

(,6/‘0-3) f

C-iha Yna
Pr( on })Se ( or?; ) y-¢ a-ord na-]fﬁ (95/ 0.6)
(1,04) | (1,2.7) \ are appoximate
(2,1.2) | (1,3.6)
(3,():6) (a’) 1.8) L KU | APP | TIPS | COM
(L’)"wol) ('b ""0'3> -0/-0[-0-0
(5,-0.)| (35, -0.(,)




‘F(?(): «}1'5_’[2-66)(
K\ |

_ x(x*+5x k)

x+l)

_ x@er)lc-d)
T xsH

= %(’X‘Q) xF~|

Therchwe, the graph of + 1 @ parabola with @ hole
at a=11, If we let g(x)=x(x-€) g(-1)=187
Thus, the co-ordinates of Yo hole are (- ,137) .
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